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Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words 
What are the mathematical processes used by 
children in solving mathematical problems ? 
Explain with example. 

OR 
What do you mean by 'interpretation of data' ? 
Explain the steps involved in it. Write five facts 
which you can derive from the following graph : 
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2. 	Answer the following question in about 
600 words : 
Explain the meaning of the term 'pattern' and 
discuss the ways by which patterns can be 
generalized. What are the common errors made 
by children in generalizing patterns ? 

OR 
Discuss the implications of Van-Hiele's model in 
classroom teaching-learning. 

	

3. 	Answer any four of the following questions in 
150 words each : 
(a) What is variable ? How it is different from 

constant ? 
(b) How will you teach the concept of 

'tessellation' to students ? 
(c) When do we need a 'Counter Example' in 

mathematics ? Explain by giving two 
examples. 

(d) 'Conducive physical environment is 
essential for a constructivist classroom'. 
Discuss. 

(e) What are the main features of activity based 
learning ? 

(f) Discuss the need to teach children about 
'chance'. 

	

4. 	Answer the following question in about 
600 words : 
Select a topic which is taught to class VII and 
explain the conceptual knowledge and 
procedural knowledge in it ? How will you teach 
the same topic through activity method ? 
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